

$$Ans2 = \left[\begin{array}{ll} .1 = [p(x) + q(x) = 3x^2 + 2x + 10] & .2 = [p(x) - q(x) = -x^2 - 2x] \\ .3 = [q(x) - p(x) = x^2 + 2x] & .4 = [mp(x) - nq(x) = -4x^2 - 6x - 5] \\ .5 = [p(x)q(x) = 2x^4 + 2x^3 + 15x^2 + 10x + 25] & .6 = [[p(x)]^2 = x^4 + 10x^2 + 25] \end{array} \right]$$

$$Ans4 = [a + b = -6, a b = -16], \quad , \quad Ans5 = [a = 4, b = 6, a b = 24]$$

$$Ans7 = \left[\begin{array}{ll} .1 = \left[\begin{array}{l} Q(x) = 4x^3 + x^2 - 3 \\ R(x) = -4x \end{array} \right] & .2 = \left[\begin{array}{l} Q(x) = 4x + 1 \\ R(x) = -3x^2 - 4x \end{array} \right] \\ .3 = \left[\begin{array}{l} Q(x) = x \\ R(x) = -3x - 1 \end{array} \right] & .4 = \left[\begin{array}{l} Q(x) = x^3 + 8x^2 + 24x + 69 \\ R(x) = 211 \end{array} \right] \\ .5 = \left[\begin{array}{l} Q(x) = 3x^3 + 6x \\ R(x) = 12x + 5 \end{array} \right] & .6 = \left[\begin{array}{l} Q(x) = x^3 + 2 \\ R(x) = -4 \end{array} \right] \end{array} \right]$$

$$Ans7 = \left[\begin{array}{ll} .1 = \left[\begin{array}{l} Q(x) = 4x^3 + x^2 - 4 \\ R(x) = -2x - 1 \end{array} \right] & .2 = \left[\begin{array}{l} Q(x) = 4x^2 + x \\ R(x) = -4x^2 - 2x - 1 \end{array} \right] \\ .3 = \left[\begin{array}{l} Q(x) = x \\ R(x) = -7x + 5 \end{array} \right] & .4 = \left[\begin{array}{l} Q(x) = x^3 + 5x^2 + 14x + 25 \\ R(x) = 46 \end{array} \right] \\ .5 = \left[\begin{array}{l} Q(x) = 2x^3 - 2x \\ R(x) = 2x - 5 \end{array} \right] & .6 = \left[\begin{array}{l} Q(x) = x^3 + 5 \\ R(x) = 10 \end{array} \right] \end{array} \right]$$

$$Ans2 = \begin{bmatrix} .1 = [p(x) + q(x) = 3x^2 + 5x + 5] & .2 = [p(x) - q(x) = -x^2 - 5x + 1] \\ .3 = [q(x) - p(x) = x^2 + 5x - 1] & .4 = [mp(x) - nq(x) = x^2 - 10x + 11] \\ .5 = [p(x)q(x) = 2x^4 + 5x^3 + 8x^2 + 15x + 6] & .6 = [[p(x)]^2 = x^4 + 6x^2 + 9] \end{bmatrix}$$

$$Ans4 = [a + b = -17, a b = 72], \quad , \quad Ans5 = [a = 4, b = 3, a b = 12]$$

$$Ans7 = \left[\begin{array}{ll} .1 = \left[\begin{array}{l} Q(x) = 2x^3 - 2x^2 + 2x \\ R(x) = -2 \end{array} \right] & .2 = \left[\begin{array}{l} Q(x) = 2x^2 - 2x + 2 \\ R(x) = -2 \end{array} \right] \\ .3 = \left[\begin{array}{l} Q(x) = x \\ R(x) = 2x - 5 \end{array} \right] & .4 = \left[\begin{array}{l} Q(x) = x^3 - 2x^2 + 2x - 10 \\ R(x) = 32 \end{array} \right] \\ .5 = \left[\begin{array}{l} Q(x) = 2x^3 + 2x \\ R(x) = 2x - 3 \end{array} \right] & .6 = \left[\begin{array}{l} Q(x) = x^3 + 9 \\ R(x) = 32 \end{array} \right] \end{array} \right]$$

$$Ans2 = \left[\begin{array}{ll} .1 = [p(x) + q(x) = 3x^2 - 3x + 5] & .2 = [p(x) - q(x) = -x^2 + 3x + 3] \\ .3 = [q(x) - p(x) = x^2 - 3x - 3] & .4 = [mp(x) - nq(x) = -6x^2 + 15x + 11] \\ .5 = [p(x)q(x) = 2x^4 - 3x^3 + 9x^2 - 12x + 4] & .6 = [[p(x)]^2 = x^4 + 8x^2 + 16] \end{array} \right]$$

$$Ans4 = [a + b = 6, a b = -27], \quad , \quad Ans5 = [a = -1, b = 5, a b = -5]$$

$$Ans7 = \left[\begin{array}{ll} .1 = \left[\begin{array}{l} Q(x) = 4x^4 + 3x^3 - 4x^2 + 1 \\ R(x) = 3 \end{array} \right] & .2 = \left[\begin{array}{l} Q(x) = 4x^2 + 3x - 4 \\ R(x) = x + 3 \end{array} \right] \\ .3 = \left[\begin{array}{l} Q(x) = x \\ R(x) = 6x - 7 \end{array} \right] & .4 = \left[\begin{array}{l} Q(x) = x^3 + 4x^2 + 7x + 14 \\ R(x) = 26 \end{array} \right] \\ .5 = \left[\begin{array}{l} Q(x) = 2x^3 + 4x \\ R(x) = 8x + 3 \end{array} \right] & .6 = \left[\begin{array}{l} Q(x) = x^3 + 4 \\ R(x) = -10 \end{array} \right] \end{array} \right]$$

$$Ans2 = \left[\begin{array}{ll} .1 = [p(x) + q(x) = 3x^2 + 3x - 6] & .2 = [p(x) - q(x) = -x^2 - 3x] \\ .3 = [q(x) - p(x) = x^2 + 3x] & .4 = [mp(x) - nq(x) = -4x^2 - 9x + 3] \\ .5 = [p(x)q(x) = 2x^4 + 3x^3 - 9x^2 - 9x + 9] & .6 = [[p(x)]^2 = x^4 - 6x^2 + 9] \end{array} \right]$$

$$Ans4 = [a + b = -4, a \cdot b = -45], \quad , \quad Ans5 = [a = 2, b = 5, a \cdot b = 10]$$

$$Ans7 = \left[\begin{array}{l} .1 = \left[\begin{array}{l} Q(x) = 4x^3 - 2x^2 + 3x + 1 \\ R(x) = -2x + 3 \end{array} \right] \\ .3 = \left[\begin{array}{l} Q(x) = x \\ R(x) = 7x - 5 \end{array} \right] \\ .5 = \left[\begin{array}{l} Q(x) = 4x^3 - 8x \\ R(x) = 16x - 5 \end{array} \right] \end{array} \right] \quad \left[\begin{array}{l} .2 = \left[\begin{array}{l} Q(x) = 4x^2 - 2x + 3 \\ R(x) = x^2 - 2x + 3 \end{array} \right] \\ .4 = \left[\begin{array}{l} Q(x) = x^3 + x^2 - 6x + 15 \\ R(x) = -28 \end{array} \right] \\ .6 = \left[\begin{array}{l} Q(x) = x^3 + 5 \\ R(x) = 0 \end{array} \right] \end{array} \right]$$

$$Ans2 = \left[\begin{array}{ll} .1 = [p(x) + q(x) = 3x^2 - 2x - 2] & .2 = [p(x) - q(x) = -x^2 + 2x] \\ .3 = [q(x) - p(x) = x^2 - 2x] & .4 = [mp(x) - nq(x) = x^2 + 4x - 3] \\ .5 = [p(x)q(x) = 2x^4 - 2x^3 - 3x^2 + 2x + 1] & .6 = [[p(x)]^2 = x^4 - 2x^2 + 1] \end{array} \right]$$

$$Ans4 = [a + b = 2, a b = -8], \quad , \quad Ans5 = [a = 3, b = 5, a b = 15]$$

$$Ans7 = \left[\begin{array}{ll} .1 = \left[\begin{array}{l} Q(x) = x^4 + 4x^2 + 3x + 2 \\ R(x) = 1 \end{array} \right] & .2 = \left[\begin{array}{l} Q(x) = x \\ R(x) = 4x^3 + 3x^2 + 2x + 1 \end{array} \right] \\ .3 = \left[\begin{array}{l} Q(x) = x \\ R(x) = 3x - 4 \end{array} \right] & .4 = \left[\begin{array}{l} Q(x) = x^3 + 6x^2 + 14x + 38 \\ R(x) = 116 \end{array} \right] \\ .5 = \left[\begin{array}{l} Q(x) = 3x^3 - 6x \\ R(x) = 12x + 2 \end{array} \right] & .6 = \left[\begin{array}{l} Q(x) = x^3 + 2 \\ R(x) = -8 \end{array} \right] \end{array} \right]$$

$$Ans2 = \left[\begin{array}{ll} .1 = [p(x) + q(x) = 3x^2 + 5x + 2] & .2 = [p(x) - q(x) = -x^2 - 5x + 4] \\ .3 = [q(x) - p(x) = x^2 + 5x - 4] & .4 = [mp(x) - nq(x) = -4x^2 - 15x + 9] \\ .5 = [p(x)q(x) = 2x^4 + 5x^3 + 5x^2 + 15x - 3] & .6 = [[p(x)]^2 = x^4 + 6x^2 + 9] \end{array} \right]$$

$Ans4 = [a + b = 6, a b = -16], \quad , \quad Ans5 = [a = -4, b = 5, a b = -20]$

$$Ans7 = \left[\begin{array}{ll} .1 = \left[\begin{array}{l} Q(x) = 4x^4 - x^3 - 3x^2 - 3x \\ R(x) = -1 \end{array} \right] & .2 = \left[\begin{array}{l} Q(x) = 4x - 1 \\ R(x) = -3x^3 - 3x^2 - 1 \end{array} \right] \\ .3 = \left[\begin{array}{l} Q(x) = x \\ R(x) = -3x - 5 \end{array} \right] & .4 = \left[\begin{array}{l} Q(x) = x^3 + 3x^2 + 8x + 20 \\ R(x) = 38 \end{array} \right] \\ .5 = \left[\begin{array}{l} Q(x) = 2x^3 + 2x \\ R(x) = 2x - 3 \end{array} \right] & .6 = \left[\begin{array}{l} Q(x) = x^3 + 2 \\ R(x) = -4 \end{array} \right] \end{array} \right]$$

$$Ans7 = \left[\begin{array}{l} .1 = \left[\begin{array}{l} Q(x) = 3x^4 + 3x^3 + 4x^2 + 4x - 1 \\ R(x) = -2 \end{array} \right] \\ .3 = \left[\begin{array}{l} Q(x) = x \\ R(x) = -4x + 1 \end{array} \right] \\ .5 = \left[\begin{array}{l} Q(x) = 3x^3 - 3x \\ R(x) = 3x - 2 \end{array} \right] \end{array} \right] \quad \left[\begin{array}{l} .2 = \left[\begin{array}{l} Q(x) = 3x + 3 \\ R(x) = 4x^3 + 4x^2 - x - 2 \end{array} \right] \\ .4 = \left[\begin{array}{l} Q(x) = x^3 + 4x^2 + 12x + 27 \\ R(x) = 52 \end{array} \right] \\ .6 = \left[\begin{array}{l} Q(x) = x^3 + 3 \\ R(x) = -4 \end{array} \right] \end{array} \right]$$

$$Ans2 = \left[\begin{array}{ll} .1 = [p(x) + q(x) = 5x^2 - 2x + 2] & .2 = [p(x) - q(x) = -3x^2 + 2x - 8] \\ .3 = [q(x) - p(x) = 3x^2 - 2x + 8] & .4 = [mp(x) - nq(x) = -8x^2 + 6x - 27] \\ .5 = [p(x)q(x) = 4x^4 - 2x^3 - 7x^2 + 6x - 15] & .6 = [[p(x)]^2 = x^4 - 6x^2 + 9] \end{array} \right]$$

$Ans4 = [a + b = 7, a b = 6], \quad , \quad Ans5 = [a = -1, b = 3, a b = -3]$

$$Ans7 = \left[\begin{array}{l} .1 = \left[\begin{array}{l} Q(x) = 3x^4 - x^3 + 2x^2 - 4x - 4 \\ R(x) = 3 \end{array} \right] \\ .2 = \left[\begin{array}{l} Q(x) = 3x - 1 \\ R(x) = 2x^3 - 4x^2 - 4x + 3 \end{array} \right] \\ .3 = \left[\begin{array}{l} Q(x) = x \\ R(x) = -6x - 1 \end{array} \right] \\ .4 = \left[\begin{array}{l} Q(x) = x^3 + 8x^2 + 21x + 64 \\ R(x) = 189 \end{array} \right] \\ .5 = \left[\begin{array}{l} Q(x) = 4x^3 + 8x \\ R(x) = 16x - 3 \end{array} \right] \\ .6 = \left[\begin{array}{l} Q(x) = x^3 + 6 \\ R(x) = 10 \end{array} \right] \end{array} \right]$$

$$Ans7 = \left[\begin{array}{ll} .1 = \left[\begin{array}{l} Q(x) = 4x^3 - x^2 - 4x + 1 \\ R(x) = -4x + 2 \end{array} \right] & .2 = \left[\begin{array}{l} Q(x) = 4x - 1 \\ R(x) = -4x^3 + x^2 - 4x + 2 \end{array} \right] \\ .3 = \left[\begin{array}{l} Q(x) = x \\ R(x) = 5x - 4 \end{array} \right] & .4 = \left[\begin{array}{l} Q(x) = x^3 + 3x^2 - 3x + 6 \\ R(x) = -13 \end{array} \right] \\ .5 = \left[\begin{array}{l} Q(x) = 3x^3 + 3x \\ R(x) = 3x + 2 \end{array} \right] & .6 = \left[\begin{array}{l} Q(x) = x^3 + 1 \\ R(x) = 3 \end{array} \right] \end{array} \right]$$

$$Ans7 = \left[\begin{array}{l} .1 = \left[\begin{array}{l} Q(x) = 4x^4 - 2x^3 - x - 4 \\ R(x) = 0 \end{array} \right] \\ .3 = \left[\begin{array}{l} Q(x) = x \\ R(x) = -6x + 2 \end{array} \right] \\ .5 = \left[\begin{array}{l} Q(x) = 4x^3 + 8x \\ R(x) = 16x - 5 \end{array} \right] \end{array} \right] \quad \left[\begin{array}{l} .2 = \left[\begin{array}{l} Q(x) = 4x^2 - 2x \\ R(x) = -x^2 - 4x \end{array} \right] \\ .4 = \left[\begin{array}{l} Q(x) = x^3 + 7x^2 + 12x + 22 \\ R(x) = 48 \end{array} \right] \\ .6 = \left[\begin{array}{l} Q(x) = x^3 \\ R(x) = -5 \end{array} \right] \end{array} \right]$$

.....

$$Ans7 = \left[\begin{array}{ll} .1 = \left[\begin{array}{l} Q(x) = 3x^4 + x^3 + 4x^2 - x \\ R(x) = -4 \end{array} \right] & .2 = \left[\begin{array}{l} Q(x) = 3x + 1 \\ R(x) = 4x^3 - x^2 - 4 \end{array} \right] \\ .3 = \left[\begin{array}{l} Q(x) = x \\ R(x) = 6x + 5 \end{array} \right] & .4 = \left[\begin{array}{l} Q(x) = x^3 + 3x^2 + 6x + 16 \\ R(x) = 34 \end{array} \right] \\ .5 = \left[\begin{array}{l} Q(x) = 2x^3 - 6x \\ R(x) = 18x + 5 \end{array} \right] & .6 = \left[\begin{array}{l} Q(x) = x^3 + 7 \\ R(x) = 26 \end{array} \right] \end{array} \right]$$

$$Ans2 = \left[\begin{array}{ll} .1 = [p(x) + q(x) = 4x^2 - x - 9] & .2 = [p(x) - q(x) = -2x^2 + x + 1] \\ .3 = [q(x) - p(x) = 2x^2 - x - 1] & .4 = [mp(x) - nq(x) = -7x^2 + 3x + 7] \\ .5 = [p(x)q(x) = 3x^4 - x^3 - 17x^2 + 4x + 20] & .6 = [[p(x)]^2 = x^4 - 8x^2 + 16] \end{array} \right]$$

$$Ans4 = [a + b = 4, a b = 3], \quad , \quad Ans5 = [a = -1, b = 7, a b = -7]$$

$$Ans7 = \left[\begin{array}{l} .1 = \left[\begin{array}{l} Q(x) = x^4 - 2x^3 + 3x^2 + x + 2 \\ R(x) = 2 \end{array} \right] \\ .3 = \left[\begin{array}{l} Q(x) = x \\ R(x) = -2x - 4 \end{array} \right] \\ .5 = \left[\begin{array}{l} Q(x) = 3x^3 - 9x \\ R(x) = 27x + 2 \end{array} \right] \end{array} \right] \quad \left[\begin{array}{l} .2 = \left[\begin{array}{l} Q(x) = x^2 - 2x + 3 \\ R(x) = x^2 + 2x + 2 \end{array} \right] \\ .4 = \left[\begin{array}{l} Q(x) = x^3 + 5x^2 + 9x + 18 \\ R(x) = 35 \end{array} \right] \\ .6 = \left[\begin{array}{l} Q(x) = x^3 - 1 \\ R(x) = 8 \end{array} \right] \end{array} \right]$$

$$Ans7 = \left[\begin{array}{ll} .1 = \left[\begin{array}{l} Q(x) = 5x^4 - 3x^3 + x^2 - 2x \\ R(x) = -2 \end{array} \right] & .2 = \left[\begin{array}{l} Q(x) = 5x - 3 \\ R(x) = x^3 - 2x^2 - 2 \end{array} \right] \\ .3 = \left[\begin{array}{l} Q(x) = x \\ R(x) = 6x - 4 \end{array} \right] & .4 = \left[\begin{array}{l} Q(x) = x^3 - 2x^2 + 3x - 5 \\ R(x) = 14 \end{array} \right] \\ .5 = \left[\begin{array}{l} Q(x) = 3x^3 + 6x \\ R(x) = 12x + 2 \end{array} \right] & .6 = \left[\begin{array}{l} Q(x) = x^3 + 3 \\ R(x) = -3 \end{array} \right] \end{array} \right]$$

$$Ans7 = \left[\begin{array}{ll} .1 = \left[\begin{array}{l} Q(x) = 2x^4 + 2x^3 + 4x^2 + 2x + 3 \\ R(x) = 0 \end{array} \right] & .2 = \left[\begin{array}{l} Q(x) = 2x^2 + 2x + 4 \\ R(x) = 2x^2 + 3x \end{array} \right] \\ .3 = \left[\begin{array}{l} Q(x) = x \\ R(x) = 6x - 3 \end{array} \right] & .4 = \left[\begin{array}{l} Q(x) = x^3 + x^2 - 4x + 8 \\ R(x) = -20 \end{array} \right] \\ .5 = \left[\begin{array}{l} Q(x) = 3x^3 + 3x \\ R(x) = 3x + 2 \end{array} \right] & .6 = \left[\begin{array}{l} Q(x) = x^3 \\ R(x) = 4 \end{array} \right] \end{array} \right]$$

$$Ans7 = \left[\begin{array}{l} .1 = \left[\begin{array}{l} Q(x) = 2x^3 - 3x^2 - 2 \\ R(x) = -2x \end{array} \right] \\ .2 = \left[\begin{array}{l} Q(x) = 2x^2 - 3x \\ R(x) = -2x^2 - 2x \end{array} \right] \\ .3 = \left[\begin{array}{l} Q(x) = x \\ R(x) = 2x - 1 \end{array} \right] \\ .4 = \left[\begin{array}{l} Q(x) = x^3 + 6x^2 + 16x + 52 \\ R(x) = 155 \end{array} \right] \\ .5 = \left[\begin{array}{l} Q(x) = 2x^3 - 4x \\ R(x) = 8x - 5 \end{array} \right] \\ .6 = \left[\begin{array}{l} Q(x) = x^3 + 7 \\ R(x) = 24 \end{array} \right] \end{array} \right]$$

$$Ans7 = \left[\begin{array}{ll} .1 = \left[\begin{array}{l} Q(x) = 5x^4 + 4x^3 + 2x \\ R(x) = 1 \end{array} \right] & .2 = \left[\begin{array}{l} Q(x) = 5x + 4 \\ R(x) = 2x^2 + 1 \end{array} \right] \\ .3 = \left[\begin{array}{l} Q(x) = x \\ R(x) = -6x - 7 \end{array} \right] & .4 = \left[\begin{array}{l} Q(x) = x^3 + 4x^2 + 12x + 38 \\ R(x) = 112 \end{array} \right] \\ .5 = \left[\begin{array}{l} Q(x) = 4x^3 - 8x \\ R(x) = 16x + 3 \end{array} \right] & .6 = \left[\begin{array}{l} Q(x) = x^3 + 5 \\ R(x) = 0 \end{array} \right] \end{array} \right]$$

$$Ans7 = \left[\begin{array}{l} .1 = \left[\begin{array}{l} Q(x) = x^3 - 3x^2 - x - 2 \\ R(x) = 3x + 4 \end{array} \right] \\ .3 = \left[\begin{array}{l} Q(x) = x \\ R(x) = 5x - 1 \end{array} \right] \\ .5 = \left[\begin{array}{l} Q(x) = 2x^3 + 2x \\ R(x) = 2x + 5 \end{array} \right] \end{array} \right] \quad \left[\begin{array}{l} .2 = \left[\begin{array}{l} Q(x) = x - 3 \\ R(x) = -x^3 - 2x^2 + 3x + 4 \end{array} \right] \\ .4 = \left[\begin{array}{l} Q(x) = x^3 + x^2 - 6x + 17 \\ R(x) = -54 \end{array} \right] \\ .6 = \left[\begin{array}{l} Q(x) = x^3 + 1 \\ R(x) = 3 \end{array} \right] \end{array} \right]$$

$$Ans7 = \left[\begin{array}{ll} .1 = \left[\begin{array}{l} Q(x) = 4x^4 - 3x^3 + x + 2 \\ R(x) = 0 \end{array} \right] & .2 = \left[\begin{array}{l} Q(x) = 4x - 3 \\ R(x) = x^2 + 2x \end{array} \right] \\ .3 = \left[\begin{array}{l} Q(x) = x \\ R(x) = -x - 2 \end{array} \right] & .4 = \left[\begin{array}{l} Q(x) = x^3 + 5x^2 + 11x + 19 \\ R(x) = 41 \end{array} \right] \\ .5 = \left[\begin{array}{l} Q(x) = 3x^3 - 9x \\ R(x) = 27x + 2 \end{array} \right] & .6 = \left[\begin{array}{l} Q(x) = x^3 + 1 \\ R(x) = 4 \end{array} \right] \end{array} \right]$$

$$Ans2 = \left[\begin{array}{ll} .1 = [p(x) + q(x) = 5x^2 - x + 3] & .2 = [p(x) - q(x) = -3x^2 + x + 1] \\ .3 = [q(x) - p(x) = 3x^2 - x - 1] & .4 = [mp(x) - nq(x) = -11x^2 + 4x + 6] \\ .5 = [p(x)q(x) = 4x^4 - x^3 + 9x^2 - 2x + 2] & .6 = [[p(x)]^2 = x^4 + 4x^2 + 4] \end{array} \right]$$

$$Ans4 = [a + b = -9, a \ b = 8], \quad , \quad Ans5 = [a = 5, b = 7, a \ b = 35]$$

$$Ans7 = \left[\begin{array}{ll} .1 = \left[\begin{array}{l} Q(x) = 3x^3 - 2x^2 + 2x - 1 \\ R(x) = 4x \end{array} \right] & .2 = \left[\begin{array}{l} Q(x) = 3x^2 - 2x + 2 \\ R(x) = -x^2 + 4x \end{array} \right] \\ .3 = \left[\begin{array}{l} Q(x) = x \\ R(x) = 5x - 5 \end{array} \right] & .4 = \left[\begin{array}{l} Q(x) = x^3 + 2x^2 - 3x + 13 \\ R(x) = -42 \end{array} \right] \\ .5 = \left[\begin{array}{l} Q(x) = 2x^3 - 6x \\ R(x) = 18x + 5 \end{array} \right] & .6 = \left[\begin{array}{l} Q(x) = x^3 + 4 \\ R(x) = 2 \end{array} \right] \end{array} \right]$$

$$Ans7 = \left[\begin{array}{ll} .1 = \left[\begin{array}{l} Q(x) = x^3 - 4x^2 + 4x - 1 \\ R(x) = -2x + 3 \end{array} \right] & .2 = \left[\begin{array}{l} Q(x) = x^2 - 4x + 4 \\ R(x) = -x^2 - 2x + 3 \end{array} \right] \\ .3 = \left[\begin{array}{l} Q(x) = x \\ R(x) = x - 5 \end{array} \right] & .4 = \left[\begin{array}{l} Q(x) = x^3 + 5x^2 + 8x + 13 \\ R(x) = 22 \end{array} \right] \\ .5 = \left[\begin{array}{l} Q(x) = 2x^3 - 4x \\ R(x) = 8x + 5 \end{array} \right] & .6 = \left[\begin{array}{l} Q(x) = x^3 \\ R(x) = -5 \end{array} \right] \end{array} \right]$$

$$Ans7 = \left[\begin{array}{l} .1 = \left[\begin{array}{l} Q(x) = 4x^3 - x^2 + 3x + 2 \\ R(x) = 4x - 4 \end{array} \right] \\ .3 = \left[\begin{array}{l} Q(x) = x \\ R(x) = x - 1 \end{array} \right] \\ .5 = \left[\begin{array}{l} Q(x) = 3x^3 - 9x \\ R(x) = 27x - 2 \end{array} \right] \end{array} \right] \quad \left[\begin{array}{l} .2 = \left[\begin{array}{l} Q(x) = 4x - 1 \\ R(x) = 3x^3 + 2x^2 + 4x - 4 \end{array} \right] \\ .4 = \left[\begin{array}{l} Q(x) = x^3 + 7x^2 + 14x + 27 \\ R(x) = 50 \end{array} \right] \\ .6 = \left[\begin{array}{l} Q(x) = x^3 + 1 \\ R(x) = 2 \end{array} \right] \end{array} \right]$$

$$Ans7 = \left[\begin{array}{ll} .1 = \left[\begin{array}{l} Q(x) = 2x^3 + 4x^2 \\ R(x) = -2x - 3 \end{array} \right] & .2 = \left[\begin{array}{l} Q(x) = 2x + 4 \\ R(x) = -2x - 3 \end{array} \right] \\ .3 = \left[\begin{array}{l} Q(x) = x \\ R(x) = 5x + 1 \end{array} \right] & .4 = \left[\begin{array}{l} Q(x) = x^3 - 4 \\ R(x) = 10 \end{array} \right] \\ .5 = \left[\begin{array}{l} Q(x) = 4x^3 - 8x \\ R(x) = 16x + 5 \end{array} \right] & .6 = \left[\begin{array}{l} Q(x) = x^3 + 7 \\ R(x) = 16 \end{array} \right] \end{array} \right]$$

$$Ans2 = \left[\begin{array}{ll} .1 = [p(x) + q(x) = 4x^2 + 2x - 7] & .2 = [p(x) - q(x) = -2x^2 - 2x - 3] \\ .3 = [q(x) - p(x) = 2x^2 + 2x + 3] & .4 = [mp(x) - nq(x) = -3x^2 - 4x - 11] \\ .5 = [p(x)q(x) = 3x^4 + 2x^3 - 17x^2 - 10x + 10] & .6 = [[p(x)]^2 = x^4 - 10x^2 + 25] \end{array} \right]$$

$$Ans4 = [a + b = 4, a b = -5], \quad , \quad Ans5 = [a = -4, b = 1, a b = -4]$$

$$Ans7 = \left[\begin{array}{ll} .1 = \left[\begin{array}{l} Q(x) = 3x^3 - 4x + 3 \\ R(x) = -3x \end{array} \right] & .2 = \left[\begin{array}{l} Q(x) = 3x \\ R(x) = -4x^3 + 3x^2 - 3x \end{array} \right] \\ .3 = \left[\begin{array}{l} Q(x) = x \\ R(x) = 6x - 6 \end{array} \right] & .4 = \left[\begin{array}{l} Q(x) = x^3 + 2x^2 - 4x + 8 \\ R(x) = -15 \end{array} \right] \\ .5 = \left[\begin{array}{l} Q(x) = 2x^3 + 2x \\ R(x) = 2x - 5 \end{array} \right] & .6 = \left[\begin{array}{l} Q(x) = x^3 + 2 \\ R(x) = -8 \end{array} \right] \end{array} \right]$$

$$Ans7 = \left[\begin{array}{ll} .1 = \left[\begin{array}{l} Q(x) = 3x^4 - x^3 - 4 \\ R(x) = 1 \end{array} \right] & .2 = \left[\begin{array}{l} Q(x) = 3x - 1 \\ R(x) = -4x + 1 \end{array} \right] \\ .3 = \left[\begin{array}{l} Q(x) = x \\ R(x) = -2x + 1 \end{array} \right] & .4 = \left[\begin{array}{l} Q(x) = x^3 + 2x^2 - 5x + 14 \\ R(x) = -41 \end{array} \right] \\ .5 = \left[\begin{array}{l} Q(x) = 4x^3 + 8x \\ R(x) = 16x - 3 \end{array} \right] & .6 = \left[\begin{array}{l} Q(x) = x^3 + 2 \\ R(x) = 0 \end{array} \right] \end{array} \right]$$

[illegible]